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| PROBLEMA DEL TIRO CON ARCO Y FLECHA (morada)
> FEcuacionDinamica = Masaﬂecha-diﬁ(s(t), 1$2) = Hooke-s(t)
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EcuacionDinamica = Masaﬂecha [d—z s(1) j = Hooke s(t) €))
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> Pesoﬂecha = W;gmvedad = T0° Hooke == - W, Masaﬂecha = W
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> CondicionesDinamicas ‘= s(0) =- 100 D(s)(0)=0
CondicionesDinamicas :=s(0) = - %, D(s)(0)=0 )]
_> Empujeﬂ veha ‘= dsolve({ EcuacionDinamica, CondicionesDinamicas})
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I Empujeﬂecha =s(t) =~ 100 COS(T Vv 10 t) S)
> Tiempoempuje = Solve(rhs(Empujeﬂecha) =0, t); evalf (%, 3)
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Tzempoempuje.— 268 10
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> Velocidad,,, ;= subs(t= Tiempoempuje, rhs(diff(Empujeﬂecha, t) ) ); evalf (%, 3); evalf (%%,
3)-3.6
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| PROBLEMA TIRO PARABOLICO
> Velocidad,,, . ,
9331 m @)
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Ecuacion,,, . .= diff (y(t), 82) =- gravedad, Ecuacion,, . .. = diff (x(1),
= Velocidad,,, , , COS( % )
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vertical = ? y(t) - ?

. d _ 9331
Ecuacion,, . . .= m x( = 7000 J10 V2 ()]
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Condiciones _ 21
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verticales = y(O) - 10 D(y) (0) - VeZOCZdadinicial'Sln ( _1

4 ); Condlaonhorizontal
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Condiciones,,,;..j..:=Y(0) = 1o D(y) (0 o 0T

Condicion,,. . .:=x(0) =35 10)

Condiciones

Recorrido verticales

vertical
= dsolve( {Ecuaczonh orizontal CORdiciony . al})
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Recorrido,,,.... . =y(t) = - 10 7+ 1000 v 10 \/_t—I—

dsolve( {Ecuacion }), Recorridoy,,. ol
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Recorridoy, . .= x(t) = 500 J5t+5 11)

TiempoVuelo = Solve(rhs(Recorridovemcal) =0, z‘)' evalf (%, 3

TiempoVuelo = 23> 5 — —L_ [900aaz5, 1333 J_ + L /9094443
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DistanciaMaxima = subs( t = TiempoVuelo,, rhs(Recorridoh orizonta l) ) evalf (%, 3

DistanciaMaxima = 9331 \/? ( 1333 \/_ + —— + 9094445 ) +5
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TiempoAlturaMaxima = Solve(rhs(dW(Recorridovertlcal, z‘) ) =0, t); evalf (%, 3)
TiempoAlturaMaxima := — 1333 v 10 \/_
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AlturaMaxima = Subs( t = TiempoAlturaMaxima, rhs(Recorridov S l) ); evalf (%, 3)
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